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We learnt there regarding - ;7093 J°92p 77°2R K57 707NRR7 7791 ans Jan
a betrothed maiden; she and her father may accept her divorce

Overview

The R na cites a m1wn where there is a dispute between "1 and the 7127 as to who can
receive the vi on behalf of a 707817 7w, The 13127 maintain they each can receive
the v, while >"7 maintains that only father can receive the vi. Our n1901n discusses
what is the rule by a 71vp; who can receive her v3?

- N7 N9) 1%AN 591 9937 130D YN NI NPT 10909PN U
>'""w4 explained, only by a 79v1 do the 7127 maintain that she can receive her 3,
however by a 11up all agree that only her father can receive the v3, but not her.

mooIn anticipates a difficulty:
= 2)0P2 M1 /) (8,10 97 Py DAPNN P93 1399INRT 2) JY GN)

And even though X211 stated in %apns pa5; there are three stages by a minor -
= V) NYAPNY WI NYAN SWVITIPA HYINN NIVPA 397139 MNP

And X217 says there regarding the second stage, corresponding by a 73up she can
become divorced even when her father was w7p» her, meaning she can receive

the v, which (seemingly) contradicts what >"wA states here that a 730p cannot receive her v —

mooIn replies:
= N NDY 122N PDINRN 11 DAN SAN N W 192N INIVIA IN DDA 9999197 91D 74N

It will be necessary to say that X211 there is discussing a case where she is either
orphaned from her father, or if she is married and even if she has a father,
however while she is an 79198 only her father can accept her v3, but not her.

nvoN asks:
- 505 %9 YAPNN NIINRY NIVP MNP PNYRVA NPT HYD 1751)

However there is a difficulty with *"w25, for later in our X923 it cited a Xn>"2

!'See %71 17"7°"wA (and the 1" Maxa there 2 MX).

2 This is regarding how effective are his transactions.

3 The second stage is called mws, when they are around six to eight years old (*"w1 there mwa: 7"7).

4 See *"wn there 173121 1"7 (who says that as well). If her father dies she can accept her va even if she is a mvp. The
difficulty with a mvp receiving her v3 is (not because she has no 7, for by a nxWw1 she can be v 73pn, but rather)
because she is under the jurisdiction of her father; once the father dies she can be v 93pn.

3 See *"wn here X1 7" 710. Once she is a 7XW3, she leaves her father’s mwA entirely.

6 (n"an maxT) 2,7,
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which stated, ‘a mup who said to a %W, ‘accept a ¥ on my behalf’, the rule is -
= VM D7D V) YINYI DAN ¥YIYN DT NV WY 1Y V) IPN

There is no divorce until her vx reaches her hand’, indicating that however

when the w3 reaches her hand she is divorced, proving that a 710p can receive her va.
This contradicts *"w"5 —

mooIN anticipates a rebuttal to his question:
= AN 1Y PRV HPNT 2 DY 9N

And even though the X3 there established the Xn>72 in a case where she has no
father (in which case " agrees® that she can receive her v3) —

Mmoo responds and rejects the rebuttal:
= V) DT 29N NIV XNT XPT IPD NOVPT DIVN 199N

That it because of the difficulty from the inference that by a 79w it is a v3 if the

mow accepted it on her behalf -
- 1095 1Y YIWA 9917 PHYT XPYD NN AYNHN ©IPN Yan Yax

But nonetheless initially we assumed that the Xn»92 is discussing a case where

the 71vp has a father -
= 109 HaPY 42 NY YW NIVP NI YNY NYINN N V) WIIWI YNIWYN 997 1D29N)

And nevertheless it seems from the X092 that when the v3 reaches her hand she
is divorced; we can derive from this Xn>72 that a /mwp has ‘a hand’ to receive
her ©3 (not as >"w1 maintains).

nvoIN offers his view:
- 1307 110 NIDY NI DPIT NN 19929 12 PNYS 19929 WIS a9

Therefore the %''93 59 explained that even though the 77113» mentions 79w1, the

same rule applies to a 573uP that (according to the p"n) she can be v H2pn -
= N> NDY 12AN D993 1P2ANT AINY 2297 IND T NIND NIV VPIT NN

And the reason the 71w mentions 791, is to inform us the ‘strength’ of "' that
even by a 77y, only her father can be 7v°3 %3P, but not the 79w,

7 The R7na there cited this X172 to prove that a 707NA7 7791 can make a MW to receive her v, for since the Xn»"2
states that a 71vp cannot make a 5w, the inference is that a 771 can make a 5.

8 See footnote # 4.

® 7am1 21 ruled that a 7w1 cannot make a 7w and was challenged from the inference of this X2 (see footnote # 7).
By saying that the Xn™92 is discussing a 13vp which has no father, the inference that a 71791 who has no father can make
a mow, will not contradict 1", since all agree that if the 77¥1 has not father she may make a v°3 93p% 5w,

10 There was an issue (according to 1"1) with the inference of the Xn™72 (that a 71 may make a 7w 2aph mhw),
however there seemed to be no problem, with the (inference of the) Xn»92 that when the v comes to her hand she is
nwn, which contradicts the view of >"wn. See ‘Thinking it over’ # 1 & 2.
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S0P P10 NN NP VPIT Y1993 NN 7Y 12 9N IV
And >'"'w1 subsequently retracted and amended in his explanation, that the 71wn

mentioned 79Y1, but the same law applies to a 571uP; that a mwp can also be v 3pn

(according to the p"n).
:[7191 YORRRT M7 3,70 PYO MEON T P

Summary
According to the P"n (even) a 11w can be 7V Hapn.

Thinking it over

1. How can maoin prove from the X3 later that a 70X 73R has a v 2ph 7,12
perhaps the X 13 is discussing a mxwi? !

2. How may we argue that no01n proof from the X3 later is inconclusive?'

w3 "y,

12 See footnote # 10.
13 See x"wnn.

14 See x"av.
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